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GENERAL INSTRUCTION TO THE EXAMINEES:

1. g9l WaueH U= UvH U¥ W AMISG AfHardd: ford |

Candidate must write first his/her Roll No- on the question paper compulsorily.

2 9y P Ifard €|

All the questions are compulsory.
3 TP T &I IR 4l T3 IR a1 7 8 ford |

Write the answer to each guestion in the given answer book only.

4 9 Ul ® JOR$ W@US &, S99 Al & ST U |1 & ford |

For questions having more than one part, the answers to those parts are to be written together in continuity.

5. ¥ B IR for@ | qd U P HHID 37999 ford |

Write down the serial number of the question before attempting it.

6. U U3 & 2=l @ 3Ucll SR H fHdl TaR 3l e /IR / fREms 8F ) 2= A

D U DI B ol A |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question of

Hindi version should be treated valid.
7. U39 HHIP 14 ¥ 20 ¥ IT<IRG Aheq |

There are internal choices in Question No. 14 to 20 .
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SECTION- A

1. 9EAHATHD T

(1 = xvin): 7771 09T & SR &1 Fel Adhed 999 o) IR gRasr 7 fafeg |

Multiple Choice Questions

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it
in given answers book.

(1) 1834 H fHH WY $1 Ugd W GlldRIs Yoob EY WU fHar war ? 1
(31) smRga (@) s

(®) frc (%) 4

On the initiative of which state in 1834 was the Zollverein custom union established ?

(&) Austria (B) Prussia

(C) Britain (D) Russia

) 99 A 59 99 A Brell 91 T8989 9 U5 Ol & ? 1
() s () wewTS;

(|) oI (]) IS

In which of the following states black soil is Predominantly found ?

(A) Hariyana (B) maharashtra

(C) Rajasthan (D)Jharkhand

(1) ARG g9 Sild W01 AEFgH &9 or] fear mar ? 1
(31) 1970 (€) 1971

(|) 1972 (g) 1973

When was the Indian wildlife protection Act. Implemented?

(A) 1970 () 1971

(C) 1972 (D) 1973

(Iv) = 7 | DT ST AT YRR Bl Hed AT @ w9 A UgTh Hedl &7 1
(&) BETH CRSILE

(@) e (2) AT
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Which of the following industries uses limestone as raw material ?

(A) Paper (B) Cement
(C) Steel (D) Motor vehicle
(v) =1 5 @@= |1 uRaeT WeE Rd | UHE ERE 87 1
(31) gTSYTSH (@) Y1 gRass
(@) ag uRasd (2) Tsa gRaed
Which one of the following is the most important modes of transportation in India ?
(A) Pipeline (B) Railways
(C) Airways (D) Roadways
(vi)yFr=1 5 9 5 Q9 F O # 99 Ugel 491 @) addie [aaad g 2l ? 1
(37) STaT (@) Fervs
(|) = (T) wRd
In which of the following countries in the world was the earliest kind of print technology developed?
(A) Japan (B) England
(C) China (D) India
VIl) SFFAle ERT 9910 T4 919 & o9 &1 SIS fade gRT fhar mar ? 1
(1) g (@) ArzHe 9w
(§) deg e (2) foer o
Who produced the steam engine designed by James Watt ?
(A) Newcomen (B) Michael wolf
(C) Matthew Boulton (D) Will Thorne
(vin) 52 Avagg (1914) H M3 ISl & ©H H D41 I IAMHS A8l o7 ? 1
(@) fae= (@) Wi
(&) ST @) ©9
Which nation was not included in the Allied Camp in the First World War (1914) ?
(A) Britain (B) France
(C) Germany (D) Russia
(IX) ‘IR SIEE A ITHHAT faaq fordt ? 1
(1) Terg=¥r <4l (8) DT AT <l
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() g () awmTs e
Who wrote autobiography titled 'Aamar Jeeban’

(A) Rashsundari (B) Kailash Bashini Devi

(C) Ramabai (D) Tarabai shinde

(X) STTPT W I e 947 7

(31) 1944 (@) 1946

(H) 1948 () 1950

When did Sri Lanka become an independent nation ?
(A)1944 (B) 1946

(C) 1948 (D) 1950

(x1) Fre=Tifea 5 & |9 g &1 Qv 781 8 —
(37) ST e (@) fa=n Ame
(W) dfeb (%) fRmem

Which of the following is not a subject of the union List -
(A) National Security (B) foreign affairs

(C) Banking (D) education

XI)9IRd § =1 § | aaRl & 6w IR & gawe & —

(31) ord |1 @) TSy gl

() foum= |+ (]) YARIRIST &1 FLRATY
In India reservation for women in which of the folioing -

(A) Lok Sabha (B) Rajya Sabha

(C) Legislative Assembly (D) Institution of panchayati Raj
(XIII) MRS SAThes § Tllg ol 8 —

(@) s T @) <1 g

(@) g ) T ¥ B T

Party system in Indian democracy is -

(A) One party (B) Two party

(C) Multi party (D) None of these
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(xiv) =it # 9 59 Imes Uomell # SRRl SXGR &1 764 &Ial &—

(31) eI CIRISLE

(|) aFTEmEl @) T =

In which of the following system of government, responsible government is formed-
(A) Democracy (B) Monarchy

(C) Dictatorship (D) All of these

(xv) fa%a 9% & FUR fAafF=1 <o # e & IR W o7 )1 @ fog faa
A9 &1 TArT fhar Sirar &—

(&) i sy (@) ufcr =afs 3ma

() = om () et sma

According to the word Bank, which criteria is used to compare different countries on the

Basis of development

(A) National income (B) per capita income
(C) Household income (D) Personal Income
(xvI) Fr=Ifha & & &l Ale ORI &Ral & —
(3) MR ¥ 98 (@) 9% 3TH g
(@) 9= Red 9 (@) sfeeas d®
Which of the following issues currency notes -
(A) State Bank of India (B) Bank of India
(C) Reserve Bank of India (D) Indian Bank
(xvil) =1 & T SUNRHT @1 WA B & —
(31) = U BT IAWHR (@) TT9 BT AVBER
() GRET BT DR (3) oA H HHI BT ATBR
Which of the following is not a consumer right -
(A) Right to be informed (B) Right to choose
(C) Right to safety (D) Right to reduction in price
(XVIll) IR YUR &I ISR g9 dTetl 90T 8§ —
(27) fIvg =R e () faza J&
(/) ¥gH T | () Sroxisiia qe1 B

The organization that liberalizes international trade is -
(A) World trade Organization (B) World Bank

(C) United Nation Organization (D) International Monetary Fund
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2. R = @1 g @i — (19 i)

Fill In the blanks : -

(i) foa=T a=e= (1815) &1 eTeral .. = DI | 1

The Vienna Conference (1815) was chaired by ....................

) [ IRA @ T QR HEd & | 1
. is the main food crop of India-

{...]ﬂéﬁﬁ%ﬂ%ﬂm@aﬁ$waﬁ ........................ PHed © | 1

Trade in goods between two countries is called ...................

(iv) SATha— &7 qe—aer aef P A A ITFH HAT T8l & | 1

Democracy does not simply mean ruling by the opinion of .

(v) TF IK] & UHd FErAl 9 IR maﬁwﬁrﬁ%%l 1

Production of a commodity from natural resourcesis a ...........ccee.n........ Sector activity .

(V) o YR RS BT Tdh ITERT 7 | 1

... is an example of trade barrier .
3. JAfdeTgaRIed s U3 : (1 9 xi)

(= oo+l & SR TP 958 IT % Ufeh | QIO

Very Short Answer type Questions :

(Answer the following question in one word or one line)

(i) SIHTHT H 1890 B TG H DIl AR ol | Boll ? 1
Which disease spread rapidly in Africa in the 1890 ?

(ii) "TEUT SR B €1 S AEMGH o1 8, 9 ST A%l Suw dU fhHer 2 7 1

" Printing is the ultimate in something from god, the greatest gift." who said the above ?

(iii) 7T APRCH 281 9 1780 H e AT<lied UG &1 GHed I foar ? 1
Which Weekly Magazine did James Augstus Hickey start editing in 1780 ?

(iv) o 99 I Ut fhg g H Rerd g 2 1
Sunderbans Natinal park is located in which State ?

(v) TR BT U2H Al 9% SaNT Hal ol a1 ? 1
Where was the first cotton textile industry set up in india ?

(vi) HIRCITI YeTd Bl b= @oel # dfer a1 8 ? 1
Indian Railway is divided into how many Zones ?

(vii) TRIYTT T BT AT Hal &7 1

Where is the headquarters of European union ?
(viii) "&1] B FH 9 TG Y AT T8l fHAT S GHhar I8 fhae Her oar ? 1

Who said that "religion can never be separated from politics" ?
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(ix) SThda DI U fa9mar forRau | 1

Write one feature of democracy.

(x) T STET T 87 1
What is demand deposit ?
(xi) BT B0 fbd PHad 27 1
What is called a multination company?
i) SUHRDT A&V AfAfgH o qika faar mar? 1
Consumer protection Act. Was passed?

gus — ¢

SECTION-B

STETRTHD Y9 — (ST HIHT 9T 50 9e<)

Short answer type questions - (Answer limit about 50 words)

(4) Tag=m | (1815) @ < gRomA Ta1SV | 141 =2
Mention any two results of Treaty of Vienna (181 5) .

(5)¥3 AFT & IR ¥ 3T T AId 27 2

What do you know about the silk Road ?
(6) BYUAT BN [ dc1 IO EH &1 UGN 961 BHNI oidd 3ol U8 &7 9919 81 7 2

Imagine, if the oil supply gets exhausted ene day, hoaw would this affect our life style ?

(7) YR B! Udh W B BT 419 9d1U AN T8l I Uel 31 Sl & S99 &30 Bl

fqaRoT < | Yot1a = 2
Name of one staple crop of India and the regions where it is produced.
(8) T DI HIHQR! aI STHRI § 2.3 BRYT folay | 1+ 1= 2

Write two reasons, why power sharing is necessary ?
(9) f=81 <1 Wil BT 57 B S IR DI & fARUST I §911d1 & | 14+ 1= 2

Mention any two constitutional provisions that make India a secular state .

(10) NI TTHIOT IGMR. ARST JAATH, 2005 B Yo SA1SV | 2
Explain the strategy of National rural employment guarantee Act. 2005.
(11) Gell SRISHTRI 3R 28~ SRR H 3R DI | 14 1= 2
Difference between open unemployment and disguised unemployment.
(12) ITEIHROT § AT AT FHIAA &7 2

What do you understand by globalization ?

(13) 9ATERYT # FRIGE & B UH STV 31 Gl §91G, S 39 37U JTHITH
<9 Bl 2

Make a list of some examples of environmental degression that you have Seen around you.
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SECTION-C

STESTNIT Y99 — (STR AHT ST 100 I<8)

Long answer type questions - (Answer limit about 100 words)

14. 3% 0T HOAT F ARG Gl 99 SENT BT B 9918 [har ? FHEy | 3

How did the East India Company ruin the Indian Cotton textile industry? Explain.
3121497 / OR

IATENfTE HIFd B =TI g AMTHRI R (d o (iR |

Write an article on the inventions under the Industrial Revolution.

15. TSTRATE & 997 Ofcl GUEYT & TRIdl P! W89 § ARAT BINTC | (@15 31) 1%+1% =

Briefly explain the methods of rain water harvesting in Rajasthan. (Any two)

3121491 / OR
fFrifd &1 T HIfY |
(i) STt Siree e (ii) 9 fgu Ryars gomed
Explain the following-
(i) Jal Jeevan mission (ii) Bamboo Drip Irrigation
16. TRA H HUI TIRAT B FHIGL DT | 3
Review the federal system in India..
312141/ OR

HEare a1 77 HEdg &) Heayel fRISdisil & 9d1sy |

What is federalism? Explain the important features of federalism .

17. go1 A &1 ve Argq § 98 aRg fAfFma @ S &1 ¥ &l 2|
REAT_BIoTT | 3

Money is 2 medium of exchange. It removes the defects of barter- Explain.

3121491 / OR
FUT & ARG AT UMD WAl B fag=a=T S |

Discuss formal or Informal sources of Credit.
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SECTION-D

FEETdHS 939 — (STR AET ST 250 9+<)

Essay Type Questions - (Answer limit about 250 words)

18. {IATT TS A<l &1 AR F guiH PHIfoT |

Describe the civil disobedience movement in detail.

31e1dT / OR

AR H LATe 33T & HRUN R Uh o forfgy |

Write a essay on the reasons for the growth Of Nationalism in India.

19. AHad H eHIfad qall I A= YAHeil o aarer i |

Explain the various roles of political parties in a democracy.
3121491 / OR

IATIfad T & HIAT Pl TRAT HIFAU |

Explain the functions of political parties.

20. U3 &1 IR @A T qEfTm § Afvm —

Write the answer in the given map -

fr=fofRaa oo &3 &1 9RG & Y1 gy 5 3ifea difeu |

Mark the following oil fields on the outline Map of India

(31) T3 BTS (Mumbai High) (9 3i@ei¥aR (Ankaleshwar)
(F) ﬁ':ﬂ?-hé (Digbal) (3) ERsIG| (Bassien)

311471 / OR

1+1+14+1 = 4

fr=foriRaa e v Falds 9o+t @ YRd & &1 J9F4fad 7 3ifeg P |

Mark the following iron ore exporting ports on the outline map of india.
(3) AT (Marmagao) () ﬂ"'l?{\'? (Mangaluru)
(H) ‘TITI_QPI‘:[ (Paradwip) () |a§[|?:‘|lqaflﬂ (Vishakhapatnam)
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